T [MITT T T [T T T T T T [T
<
To)
< ]
o ]
v —
L‘I) —
™~ i
(@) —
o
N —
™
©
o =
-
n
<
- _
AV .
[ TR R (1A A [T AN 1T
7 Y N ©
(@] o o o
L | L | L o | L o |
(A93 s zwd)/suojoyd
T T [TTT T T T T T [TTTT
; /
(@] —_—
0,
* | [ E———— ]
E: .
E L 7
m_ —
Qo |- —
O L —
Te}
(@]
2 \
- e ]
- |- -
~ | -
a - —
™ L —
(o))
L I | I I I 1111

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

o o <
o o o
+ + |
23] ea] =1
[ © >~
n o ©
< < a
| | |
+ + +
o
— — o o [ap]
© ~ o + o
| | + & |
[ I 5 I s I S
© - o N
¥ N & o Q
— o — | —
Il
Q
-—
© ]
S ]
) Il g
) ; ] S
[ V. I [e]
wn = z — Z
TT [T T T[T T T 1
__+_
—
—
_*_
e — pu—
B [ -
L I — -
B —_— _
= _f—— —
n —t -
i T N O T T I O N O O
[aV] o C\Il
sjenplisay

1.00

0.10

17

X2req = 0.756

Energy/keV



